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                       Пояснительная записка.
Практическое владение английским языком в условиях обучения в неязыковых вузах означает умение читать со словарем литературу на английском языке по специальности широкого профиля. Приобретение в вузе знания, умения и навыки должны обеспечить будущему специалисту возможность использовать в своей работе специальную литературу на английском языке, т.е. уметь самостоятельно читать английские тексты по специальности, отбирать полезную информацию и переводить тексты на русский язык.

Требования на зачетах и экзаменах. 

Зачеты и экзамены по английскому языку проводятся с учебным планом вуза.

Зачеты: к зачету допускаются студенты, выполнившие все устные и письменные работы, получившие зачет по контрольным работам и сдавшие нормы чтения и перевода иностранной литературы, т.е. текстов учебника или учебных пособий, текстов выполненных работ.

Для получения зачета студент должен:

а) уметь правильно читать и понимать без словаря или со словарем тексты, изученные в течение года обучения.

б) уметь прочитать и понять без словаря новый текст, в котором встречаются не более 8 незнакомых слов на одну страницу и передать содержание прочитанного на русском языке.

Экзамен: к экзамену допускаются студенты, сдавшие зачеты за предшествующий экзамену курсы, получившие зачеты по контрольным работам и сдавшие нормы чтения.

Для сдачи экзамена студент должен:

1) уметь правильно читать и понимать текст по специальности со словарем 1000 печатных знаков в час для чтения и письменного перевода или 1400 печатных знаков – для устного перевода.

2) уметь прочитать и понять без словаря текст и передать смысл прочитанного на русском языке. 

Объем = 1000-1200 печатных знаков.

3) уметь рассказать тему, связанную с жизнью студента, учебным заведением и будущей специальностью.

Методические указания.

I.Цели и задачи методических указаний по английскому языку для студентов-заочников. Методические указания имеют целью помочь студенту-заочнику в его самостоятельной работе над развитием практических навыков правильного чтения и перевода научно-популярной литературы на английском языке над приобретением умений понимать общее содержание прочитанной выдержки из монографии или журнальной статьи на общую тематику без обязательного полного и точного перевода всех предложений текста.

Методические указания по работе над текстом.

1)для работы со словарем, выучите английский алфавит, ознакомьтесь по предисловию с построением данного словаря и с принятой в нем системой условных обозначений

2)перед тем как выписать слово и искать его значение в словаре, установите, какой частью речи оно является.

3)выписывая слова, отбрасывайте окончания и находите исходную (словарную) форму слова. Записывая слова в его традиционной орфографии, напишите рядом транскрипцию. 

Например: earn [ :n] – зарабатывать, заслуживать.

4)за транскрипцией слова ставьте короткое обозначение части речи, принятое в словарях.

Имя существительное – n.

Прилагательное – а.

Глагол – v
Числительное – num
Местоимение – pron
Наречие -  adv.

5)Глаголы нестандартные нужно выписывать в трех основных формах.

6)Слово может иметь много значений. Отбирайте в словаре подходящее по значению русское слово, исходя из его грамматических функций и общим содержанием текста.

Контрольная работа № 1.

   Для того, чтобы правильно выполнить контрольную работу № 1, необходимо усвоить   следующие разделы курса. 

1.Имя существительное. Множественное число. Артикль и предлоги как показатели имени существительного. Выражения падежных отношений в английском языке с помощью предлогов и окончания – s.

2.Имя прилагательное. Степени сравнения имен прилагательных. Конструкции типа “The more … the less.”

3.Числительные.

4.Местоимения: личные, притяжательные, вопросительные, указательные, неопределенные и отрицательные.

5.Времена группы Indefinite действительного залога. Спряжение глаголов to be, to have. Повелительное наклонение и его отрицательная форма.

6.Простое распространенное предложение. Оборот there is / are.

7.Основные случаи словообразования. 

Используйте следующие образцы выполнения упражнений.

Образец выполнения 1 (к упражнению 1).

Грамматическая функция окончания – s.
1.The students attend lectures and seminars on mathematics. Студенты посещают лекции и семинары по математике.

  Lectures – множественное число от имени существительного

  a lecture – лекция
2.He lectures on political economy. Он читает лекции по политической экономии.

   Lectures – 3-е лицо ед. числа от глагола to lecture в Pr.Indefinite.

3.My brother’s son is a student.

   Сын моего брата – студент.

   Brother’s – ‘s – окончание притяжательного падежа имени существительного в единственном числе.

   My brother’s sons are students.

   Brother’s – форма притяжательного падежа имени существительного.

   A brother во множественном числе.

Образец выполнения 2 (к упражнению 2).

Особенности перевода на русский язык английских имен существительных,   употребляющихся в функции определения, стоящего перед определяемым словом.

1.The scientist works at some problems low temperature physics.

   Этот ученый работает над некоторыми проблемами физики низких температур.

2.This girl studies at the Patrice Lumumba Friendship University.

   Эта девушка учится в университете Дружбы народов имени Патриса Лулумбы.

Образец выполнения 3 (к упражнению 5).

Lomonosov founded the first Russian University in Moscow.

Ломоносов основал первый русский университет в Москве.

Founded – Past Indefinite Active от стандартного глагола to found.

Контрольная работа № 1.

Вариант № 1.

I.Перепишите следующие предложения. Определите какой частью речи являются слова, оформленные окончанием – s.

a).показателем 3-го лица единственного числа;

b).признаком множественного числа имени существительного;

с).показателем притяжательного падежа имени существительного.

Переведите предложения на русский язык.

1.The Big Ben clock weighs 13.5 tons.

2.Ann works together with Pete.

3.I know this comrade’s son very well.

4.Write a letter to our friends.

5.His children’s names are Ann and Nick.

II.Перепишите предложения и переведите их, обращая внимание на особенности перевода на русский язык определений, выраженных именем существительным.

1.The hospital is not far from here.

2.Many Moscow University scientists work at this problem.

3.There are only daylight lamps in this room.

III.Перепишите следующие предложения, содержащие разные формы сравнения и переведите их на русский язык.

1.This room is smaller than that one.

2.The longer is the night, the shorter is the day.

3.We took a farther road, in fact the farthest of all.

4.This is the most beautiful view I have ever seen in my life.   
IV.Вместо точек вставьте неопределенные местоимения. Предложения переведите.

1…. Student can speak on the history of Kamaz.

2….park in London is as popular as Hyde park.

3….pupils recieved premiums.

4.Have you got – bread. Please, give me.

V.Перепишите следующие предложения, определите в них видовременные формы глаголов, укажите их инфинитив, переведите предложения.
1.Minsk rose from its ashes more beautiful than before.

2.The scientists took part in the conferense.

3.Today he is the best figure – skater in the world.

4.He went to the institute by Metro.

5.They will return in five days.

VI.Прочитайте и переведите на русский язык текст.
London.

1. London is the capital of Great Britain. It lies in the South East of England on both banks of the river Thames. London is one of the largest cities in the world and the largest port and industrial town in England. London is more than twenty centuries old.

2.The heart of the capital is the City. The territory of the City is about one square mile, but it is the financial and business centre of the country. It contains almost all important English banks and offices.

3.The West End of London is famous for its beautiful monuments and palaces, fine parks, fashionable shops and big hotels. The East End is quite different from the West End. It is the district of factories, plants and docks. The narrow streets and poor houses of the East End present a contrast to the homes of the rich people in the West End.

4.There are many places of interest in London. One of them is Trafalgar Square with the Nelson monument 185.

   Buckingham Palace is the royal residence. Westminster Abbey is one of the most beautiful    

   buildings in London. It contains the memorials of many famous citizens of Britain.

5.Across the road from Westminster Abbey are the Houses of Parliament, the seat of the British government.

6.The Tower of London is one of the most interesting places in London. It was a fortress, a royal residence, a prison, now it is a museum.

7.London is famous for its green parks. Hyde Park is the most popular of them. It is the greatest park in London as well.

8.London is the  centre of the country’s cultural life. There are many picture galleries and museums there. The National Gallery houses a priceless collection of paintings. The famous British Museum is one of the best museums in the world. In the library of the British Museum Karl Marx worked at his “Capital”, V. I. Lenin worked there too. 

         Контрольная работа № 1.

Вариант № 2.

I.Перепишите следующие предложения. Определите какой частью речи являются слова, оформленные окончанием – s.

a).показателем 3-го лица единственного числа;

b).признаком множественного числа имени существительного;

с).показателем притяжательного падежа имени существительного.

Переведите предложения на русский язык.

1.Comrade Petrov’s wife works at an office. 

2.After the lessons the students usually return home.

3.Is that this boy’s or that girl’s exercise - book?

4.I like to spend my week-ends in the country.

5.The inhabitants of Minsk are found of their city.

II.Перепишите предложения и переведите их, обращая внимание на особенности перевода на русский язык определений, выраженных именем существительным.

1.You live a long way from the office.

2.The students of our group will go to the state History museum tomorrow.

3.This is the building of the Tallin Gity Soviet.

III.Перепишите следующие предложения, содержащие разные формы сравнения и                   переведите их на русский язык.

1.The longer is the night the shorter is the day.

2.This girl is taller than that one.

3.The Kremlin is one of the most favourite places of young people.

4.He is the best student of our group. 

IV.Вместо точек вставьте неопределенные местоимения. Предложения переведите.

1.You may come at – time.

2. – sound reached that room.

3.I invited Sasha and Misha but – came.

4. – 400 people attend a yachting school in Tallin.

V.Перепишите следующие предложения, определите в них видовременные формы глаголов, укажите их инфинитив, переведите предложения.
1.The dean will come later.

2.The student made no mistakes in his translation.

3.Plasma is the fourth state of matter.

4.We are day – time students.

5.He went to the cinema last week.

VI.Прочитайте и переведите на русский язык текст.
Sevastopol.

     1. In translation from the Greek Sevastopol means “a magnificent city”, “a city of glory”. That is really so. Sevastopol’s history has many glorious chapters. Everybody knows about the enemy. Lev Tolstoy wrote about it in his “Sevastopol Sketches”. 

     2. We know and remember the defence of Sevastopol in the Great Patriotic War. It continued for 250 days and cost the nazi invaders 300,000 ifficers and men.

     3. After the fascist invasion Sevastopol was in ruins. There were only a few buildings in the centre of the city. Today Sevastopol stretches for dozens of kilometres.

     4. Sevastopol is a naval city. It yards build passenger ships and repair merchant vessels. They build powerful floating cranes as well.

5. Sevastopol is also a research centre. Scientists of the country’s oldest Institute of Biology of Southern Seas investigate  the World Ocean. They  have modern expeditionary ships at their disposal. 

1.A museum-city is yet another name  of Sevastopol. Monuments of culture, memorials, obelisks and sculptural groups form an organic part of its image.

2. There is an entry in the visitors’ book of the Panorama of the 1854-1855 defence of Sevastopol: “Malakhov Hill is a small hill, but what a good view opens from it of Russia, the whole Soviet Union, the entire history of its people and their historic exploit.” 

VII.Прочитайте 7-й абзац текста и письменно ответьте на вопрос:

What is the entry in the visitors’ book of the Panorama of the 1854-1855 defence of Sevastopol?

Контрольная работа №1

Вариант 3.

I.Перепишите следующие предложения. Определите какой частью речи являются слова, оформленные окончанием –s.

а) показателем 3-го лица единственного числа.

в)признаком множественного числа имени существительного.

с)показателем притяжательного падежа имени существительного.

Переведите предложения на русский язык.

1.Kazan exports a great variety of goods.

2.My sons’ marks are good.

3.The author mentions this phenomenon in his articles.

4.He likes to stay at home on Sundays.

5.My sister’s name is Ann.

II.Перепишите предложения и переведите их, обращая внимание на особенности перевода на русский язык определении, выраженных именем существительным.

1.During its four-centry old history the city experienced several dramatic events.

2.Teams of figure skaters undergo intensive training at the Sports Centre of Moscow.

3.We went to the State history museum last week. 

III.Перепишите следующие предложения, содержащие разные формы сравнения и переведите их на русский язык.

1.This is the largest classroom in our school.

2.Your handwriting is now better than it was last year.

3.The more we read, the more we know.

4.February is the shortest month of the year.

IV.Вместо точек вставьте неопределенные местоимения. Предложения переведите.

1.… engineer can give this information.

2.He said he had … wish to read detective stories.

3.… of the young men seemet to enjoy  the film.

4.… new safety rules were considered by the committee.

V.Перепишите следующие предложения, определите в них видовременные формы глаголов, укажите их инфинитив, переведите предложения.

1.The construction of the theatre began at the end of the year.

2.I’ll graduate from the institute in three years.

3.He is fond of music.

4.Last month my sister bought a new coat.

5.My friend doesn’t like fish.

VI.Прочитайте и переведите на русский язык текст.

Tallinn.

1.Tallinn is the capital of Estonia. It is an industrial town. Half of all the industrial products of the Republic comes from Tallinn’s enterprises. They produce a great variety of articles such as electric motors, electrotechnical equipment, furniture, skis, toys, fabrics, perfumes, drugs, sweets, tinned foods, etc. The industrial output of Tallinn’s enterprises increases steadily. This increase is the result of high labour  productivity due to mechanization, automation and the application of modern technology.

2.Tallinn is an old city. It retains many features of its architecture and landscape and its cosy atmosphere. The streets of the Old Town are very narrow, the buildings are ancient, many of them date back to the 15th century. Nowadays they all modern conveniences and house museums, theatres, shop and restaurants. The Old Town is the seat of the Republic’s  government, several Ministries and the Presidium of the Academy of Sciences. The area of the Old Town makes up less than one per cent of Tallinn’s territory. 

3.Thousands of Tallinn’s residents live in new districts. Each of them has attractions of its own: one district borders on thick pine groves, another faces a like, a third offers a magnificent view on the Gulf of Finland. The district of Mustamae is one of the youngest in the city. Almost a quarter of Tallinn’s population resides in the district. At Mestamae there are two institutes: the Tallinn Polytechnical Institute and the Chemistry Institute of the Academy of Sciences of the Estonian S. S. R. There are also numerous schoolhouses, kindergartens and service centres there.

4.Tallinn has Europe’s Gold Medal for preservation of architectural relics. Perhaps no other city of Northern Europe preserves the beauty of its past so lovingly. With its charming mixture of the old and the new Tallinn creates an unforgettable impression.

VII.Прочитайте 4-й абзац и вопрос к нему. Из приведенных вариантов ответа укажите номер предложения, содержащего правильный ответ на поставленный вопрос:

Why does Tallinn create an unforgettable impression?

1.… because the tempo of its construction is great.

2.… because it is major industrial centre.

3.… because it charmingly combines the old and the new.

Контрольная работа №1.

Вариант 4.

I.Перепишите следующие предложения. Определите какой частью речи являются слова, оформленные окончанием –s.

а) показателем 3-го лица единственного числа.

в)признаком множественного числа имени существительного.

с)показателем притяжательного падежа имени существительного.

 Переведите предложения на русский язык.

1.Don’t translate these letters into English.

2.This student knows English very well.

3.Does your sister’s son live in Moscow?

4.The first mention of this city dates back to the 16th century.

5.My friend likes to read detective stories.

II.Перепишите предложения и переведите их, обращая внимание на особенности перевода на русский язык определений, выраженных именем существительным.

1.The lecturer gave several examples of the Kazan scientists’ international ties.

2.Our family moved into a large four-room flat.

3.The economist reported about the fulfillment of the Food  Programme in this region.

III.Перепишите следующие предложения, содержащие разные формы сравнения, и переведите их на русский язык.

1.The more we forget, the less we know.

2.She is the worst singer in our group.

3.Are there more than two rooms in your new flat?

4.This man is younger than that one.

IV.Вместо точек вставьте неопределенные местоимения. Предложения переведите.

1.They made … changes in the working plan.

2.Can …show me the way to the station.

3.…important took place there.

4.… new problems were considered by the expert group.

V.Перепишите следующие предложения, определите видовременные формы глаголов, укажите их инфинитив, переведите предложения.
1.My friend will finish his work in time.

2.They got new books from the library three days ago.

3.This is the most beautiful garden in our town.

4.My mother left ton a week ago.

5.He helps his mother in her work.

VI.Прочитайте и переведите на русский язык текст.
VOLGOGRAD
1. Volgograd stands on the beautiful Volga. The city is about four hundred years old. The rapid development of industry and trade, river and railway transport in the 19th century led to the intensive growth of the city. During the Civil War of 1918-1920 the city on the Volga became the scene of decisive battles in the fight for the victory of the Revolution in our country. The Great Patriotic War of 1941-1945 earned the city the immortal glory of a hero-city.

2. The entire country participated in the restoration of the hero-city. The heroic labour of millions of people helped the city to rise from its ashes. And the best monument to the heroes who defended the city on the Volga is the beautiful modern city, wide  squares and prospects, its parks and gardens. The city grows from year to year.

3. Today Volgograd is one of the biggest industrial centres: many industrial enterprises, large and small, function here. An endless stream of steel, aluminium, oil and steel cables, tractors, medical equipment and building materials, river boats and chemical products flows day and night from the ports and railway terminals of Volgograd to all corners of our country and abroad.

4. The Volga Hydro-Electric Power Station is the biggest in Europe. The total capacity of its aggregates exceeds 2.5 million kilowatts. The opening of the Volga-Don Navigation Canal named after V.I. Lenin meant the realization of an age-long dream of the people to join two great rivers - the Volga and the Don. Volgograd is now a port of five seas.

5. Volgograd is also a cultural centre. There are higher and secondary educational institutions, a lot of vocational schools and schools of general education there. Many foreign students from the countries of Africa, Asia and Latin America live and study in Volgograd. There are some theatres, a circus and a planetarium in the city.

Контрольная работа №1.

Вариант 5.

I.Перепишите следующие предложения. Определите какой частью речи являются следующие слова, оформленные окончанием –s.

А) показателем 3-го лица единственного числа.

Б)признаком множественного числа имени существительного.

В)показателем притяжательного падежа имени существительного.

Переведите предложения на русский язык:

1.A well-know scientist works at this problem.

2.Does your friend’s wife or your wife know English very well?
3.They discuss many problems with him.
4.The students’ hostel is within 15 minutes walk from the institute.
5.My friend Petrov lives in Leningrad now.
II.Перепишите предложения и переведите их, обращая внимание на особенности перевода на русский язык определений, выраженных именем существительным.
1.This city is now a five-sea port.

2.The 40-meter-high arch which is the entrance to the Volga-Don Navigation Canal rises in the south of Volgograd.

3.The University is not far from here.

III.Перепишите следующие предложения, содержащие разные формы сравнения, и переведите их на русский язык.
1.The more I know her, the more I dislike her.

2.This room is larger than that one.

3.Your work is worse than mine.

4.It is the most favourite park of our city.

IV.Вместо точек вставьте неопределенные местоимения. Предложения переведите.

1.…exhibit of this museum language.

2.Does he know … foreign language?

3.…five hundred people were present at the meeting.

4.Have you … books on chemistry?

V.Перепишите следующие предложения, определите видовременные  формы глаголов, укажите их инфинитив, переведите предложения.

1.England lost last football match two days ago.

2.Six miles is too far for me to walk.

3.There are only two rooms in the flat.

4.The train will arrive in ten minutes.

5.A discussion will fallow the lecture.

VI.Прочитайте и переведите на русский язык текст.

NOVOPOLOTSK

1. Novopolotsk is one of the youngest towns of the Byelorussian Soviet Socialist Republic. It is on the Dvina river. It came into existence as a town of chemistry. There are four large industrial

enterprises here: the chemical works “Polymer”, the vitamin works, the measuring devices plant and the refinery. Thousands of workers work at these plants. Many of them combine work and study. The population of the town constantly increases. It is a town of young people.

2. The construction of Novopolotsk and its unique industrial complex became a vivid example of the great friendship of the peoples of our country. A large number of workers and specialists

came here from all parts of our country.

3. The town becomes larger from year to year. The gigantic cranes all over the town are an evidence of the huge scale of construction in Novopolotsk. The town is quite modern with its beautiful five- and nine-storey buildings, numerous kindergartens, cinemas, restaurants and Palaces of Culture. It is clean and attractive with its wide streets and parks. There are many shops, a number of libraries, a local museum and some hotels.

4. The majority of young people in Novopolotsk study. There are many secondary schools, vocational and technical schools and a polytechnical institute in Novopolotsk. The Novopolotsk Polytechnical Institute is more than ten years old.

5. Many of the citizens go in for sports. There are several swimming pools, a stadium and more than seventy sporting grounds at the disposal of those who are fond of sports. The inhabitants of the town have every possibility to have a nice rest. They can walk in the forest, swim and fish in the river, or wander near picturesque lakes. There is a new park on the bank of the Dvina river.

VII. Прочитайте 5-й абзац текста и вопрос к нему. Из приведенных вариантов ответа укажите номер предложения, содержащего правильный ответ на поставленный вопрос: 

Where is there a new park in Novopolotsk?

1. It is in the centre of the town.

2. It is near the picturesque lakes.

3. It is on the bank of the river.

Контрольная работа №4.

Чтобы правильно выполнить контрольную работу №4, необходимо усвоить следующее.

1.Сложные формы инфинитива.

2.Причастие и причастные обороты.

3.Условные предложения.

Образец выполнения упражнения 1.

1.Million of Americans are recorder to have taken part in electrons.

Зарегистрировано, что миллионы американцев приняли участие в выборах. 

2.We want the new car to be produced by February. 

Мы хотим, чтобы новый автомобиль был выпущен к февралю.
3.The device to be bought must be checked beforehand. 

Прибор, который нужно купить, следует предварительно проверить.

 Образец выполнения упражнения 2.

1.Countries wishing to cooperate with will always find the necessary understanding.

Страны, желающие сотрудничать с нами, всегда найдут должное понимание.

2.Having visited Leningrad the participants of the conference went to Kiev.

Посетив Ленинград, участники конференции поехали в Киев.

3.New technological processes having been developed, new types of equipment have been installed in the shop.

Когда были разработаны  новые технологические процессы, в цехе было установлено новое оборудование.

Образец выполнения упражнения 3.

1.if  the installation is put into operation in time, the economic effect will be greater.

Если установка будет пущена вовремя, экономический эффект возрастет.

2.If the system had been perfected, we should have applied it for new calculations.

Если бы система была усовершенствована, мы бы применили ее для новых расчетов. 

3.A would be impossible  to build, spaceships without using new materials and alloys.

Корабли без применения новых материалов и сплавов.

Вариант 1.

I.Перепишите и переведите следующие предложения с инфинитивными оборотами.

1.The metal to be poured into a mold for casting may contract or expand on solidifying.

2.The results to be expected are of great importance.

3.Many types of airplanes  are reported to have been produced in our country during the last decades.

4.The English delegation is believed to come at  the end of the month.

II.Перепишите и переведите следующие предложения, обратите внимание на перевод причастных оборотов.

1.Ordinary light entering a crystal of tourmaline, the phenomenon of  “selective  absortion” takes place. 

2.Having done a number of calculations, our astronomers have shown that the basic mass of the galaxies is concentrated outside their visible part.

3.No essential results having been obtained, the scientists had to carry out some more experiments.

4.They remained at home refusing to go anywhere that day.

III. Дополните следующие условные предложения.

1.______ if I had the chance to work abroad.

2.He would be promoted faster if _______.

3.If she were invited to that conference, she _______.

4.If he is free, he ______.

5.If they had worked hard, they ______.

IV.Прочитайте и переведите следующий текст.
A lightweight design trailer axle available in 9.4- and 10.4-tonne loading capacities has been launched by England's Spicer Drivetrain Division - Dana Ltd. The company reports that the new units are 20 and 30 kg lighter, respectively, than similar competitor units - and when married to a Weweler light-weight air suspension, a minimum axle and suspension combination of just 460 kg can be achieved. 

Weight has been saved in several areas, but the main contributor is the beam itself, according to Spicer engineers. The beam is manufactured in house by the parent company in the U.S. Seamless special-grade steel tube with 11 mm wall thickness is used. The engineers report that the company has developed a special technique, which enables it to control the inner wall growth to no more than seven percent while the tube is being worked. Normally, this would be around 16%. Thus, say the engineers, Spicer can achieve tight control of the axle weight. The grade of steel used is derived from that used in the oil industry and classified to withstand a burst pressure of 6890 bar. 

The stub axles are friction welded to the beam, and the complete unit is fatigue tested to double that of previous designs. The test involves a deflection of 38 mm under a load of 12.900 kg on each side, for a total of 66.000 cycles. The standard beam width is made for a track dimension of 2045 mm, but the company can offer a choice to suit customer requirements for different dimensional needs.

Spicer points out that the axles are available with all usual wheel fixing options, including the Japanese M20 x 1.5 mm standard and those for alloy wheels. ‘S’ cam brakes are standard with inboard drums.

These axles have been developed (and extensively tested with two-year field trials) in the U.S.A., according to Spicer. With all the options available to suit the U.K. and continental European markets, the company has decided to launch the design in the U.K. It will be manufacturing and assembling the axles alongside its existing manufacturing line at the Wolverhampton plant. 

1.Выпишите транскрипцию и перевод подчеркнутых слов из текста.

2.Составьте план текста (на английском языке).

3.Составьте возможные вопросы, используя вопросительные слова why, what.

4.Составьте аннотацию текста.
Контрольная работа №4.

Вариант 3.

1.1. The Sun and stars are proved to be able to produce great quantifies of  energy by means of certain nuclear reactions.

2.For the experiment we need several electrical devices to be connected in series.

3.Lasers are known to have found application in medicine.

4.He appeared to be a man of considerable wealth.

2.1. Measurements of solar radiation reaching the Earth each day make it possible to calculate the surface temperature of the sun.

2. Having built a new automobile plant, we increased the output of cars and buses.

3. Knowledge being the most valuable wealth of our times, the information theory became of great importance for the national economy.

4. I used to tell all my troubles to mr. Cooper, our neighbour living next door.

1.Дополните следующие условные предложения.

1.if the mechanic is here, he …

2.He will repair the car much quicker, if he …

3.If you had told me about this accident, …

4.He would help us to translate the article, if …

5.The design would be ready the end of the year if they …

2.
New Steyr All-Wheel-Drive Components.

Steyr-Daimler-Puch in Austria, as a traditional truck and tractor manufacturer, is also marketing their propulsion components, including diesel engines,  drive axles and transmissions. The company’s planetary axles have already achieved good success in commercial vehicles with original equipment manufacturers. Their drive train components, designed for all-wheel-drive vehicles are now receiving added marketing emphasis.

Recently, the product range of transfer cases has been enlarged by the Steyr model VG 2000 to meet the requirements of truck and special vehicle producers confronted with the trend of increased engine power. The maximum input torque of VG 2000 goes up to 2500 mkp (24520 Nm)

Контрольная работа № 2.

Для того, чтобы правильно выполнить контрольную работу № 2, необходимо усвоить следующие разделы курса английского языка.

I.Видо-временные формы глагола Indefinite, Continuous, Perfect (активный и пассивный залоги).Особенности перевода пассивных конструкций на русский язык.

2.Модальные глаголы и их эквиваленты.

3.Простые неличные формы глаголов Participle I, II.    

Герундий.

4.Образец выполнения 1 (к упр. 1).

а).Lobachevsky’s geometry had revolutionized  mathematics and philosophy of science.

Геометрия Лобачевского произвела коренное изменение в математике и философии науки.

Had revolutionized – Past Perfect Active от глагола to revolutionize.

b).The new laboratory equipment was sent for yesterday. Вчера послали за новым оборудованием лаборатории.

Was sent for – Past Indefinite Passive от глагола to send.

Образец выполнения 2 (к упр. 2).

I.The changes affecting the composition of materials are called chemical changes. Изменения, влияющие на состав материалов, называются химическими изменениями.

Affecting – Participle I, определение.

2.When heated to the boiling point water evaporates. Когда воду нагревают до точки кипения, она испаряется.

Heated – Participle II, обстоятельство.

3.Heat is radiated by the sun to the Earth. Тепло излучается солнцем на земле.

Radiated – Part II, составная часть видо-временной формы Present Indefinite Passive от глагола to radiate.

Вариант № 1.
I.Перепишите следующие предложения; подчеркните в каждом из них глагол-сказуемое и определите его видо-временную форму и залог. Предложения переведите.

1.When he met me I was going to the institute and had little time to talk to him.

2.He has never been there.

3.A new research is being carried out successfully.

4.The houses of Parliament are situated in Westminster.

5.I hope we shall never deal with this matter again.

II.Перепишите следующие предложения; подчеркните Part I и Part II и установите функции каждого из них. Переведите предложения.

1.When heated to a certain temperature, this substance changes its properties.

2.One can use a lot of modern equipment while measuring radioactivity.

3.This tool is one of the devices used to polish the surface of the parts.

4.Molecular crystals are solids constructed of molecules held together by relatively weak forces.

III.Вставьте модальные глаголы и их эквиваленты. Предложения переведите.

1.A lot of cutting-tools – find their application in the building industry.

2.To build new types of buildings scientists – to use different materials.

3.A scientist – to use many equations in order to solve this problem.

4.Plastics – be reinforced by different kinds of fibres.

IV.Прочитайте и переведите текст.
1.A Russian name appeared in 1964 on the honorary board1 of science at Bridgeport University, USA: Mendeleyev was added to the list of the greatest geniuses – Euclid, Archimedes, Copernicus, Galilei, Newton and Lavoisier. D.I. Mendeleyev, the explorer of nature, is the greatest chemist of the world. The Mendeleyev system has served for almost 100 years as a key to discovering new elements and it has retained its key capacity until now.

2.D.I. Mendeleyev was the fourteenth, and last child of the Director of the Gymnasium at Tobolsk. At 16 he was taken by his mother to St. Petersburg to seek higher education. He entered the Pedagogical Institute where his father has also studied. In 1856 he took a degree in chemistry and in 1859 he was sent abroad for two years for further training. He returned to St. Petersburg in 1861 as Professor of Chemistry.

3.In 1868 Mendeleyev began to write a great textbook of chemistry, known in its English translation as the “Principles of Chemistry”. In compiling this,2 he tried to find some system of classifying the elements – some sixty in all3 then known – whose properties he was describing. This led him to formulate the Periodic Law, which earned him lasting international fame. He presented it verbally4 to the Russian Chemical Society in October 1868 and published it in February 1869.

4.In this paper he set out clearly his discovery that if the elements are arranged in order of their atomic weights, chemically related elements appear at regular intervals. The greatness of Mendeleyev’s achievement lies in the fact that he had discovered a generalization that not only unified an enormous amount of existing information but pointed the way to further progress.

V.Прочитайте 4-й абзац текста и вопрос к нему. Из приведенных вариантов ответа укажите номер предложения, содержащего правильный ответ на поставленный вопрос:

What can you say about the greatness of Mendeleyev’s discovery?

1.The greatness of Mendeleyev’s achievement lies in the fact that his Periodic Table pointed the way to further progress in chemistry.

2.Mendeleyev had discovered several new elements.

3.Mendeleyev created the system of classifying chemical elements.

Контрольная работа № 2.

Вариант № 2.
I.Перепишите следующие предложения; подчеркните в каждом из них глагол-сказуемое и определите его видо-временную форму и залог. Предложения переведите.

1.Heat energy is transmitted in two different ways.

2.Scientists are studying the currents of the Pacific Ocean.

3.A new engine is being tested in the laboratory

4.The light has just changed from green to red.

5.He told me that he had never been to doctors.

II.Перепишите следующие предложения; подчеркните Part I и Part II и установите функции каждого из них. Переведите предложения.

1.Matter consists of one or a number of basic elements occuring in nature.

2.One can use several modern devices while defecting and measuring radioactivity.

3.When heated to a certain temperature, this alloy increases in volume.

4.When burnt coal produces heat.

III.Вставьте модальные глаголы и их эквиваленты. Предложения переведите.

1.One object – be larger than another one, but it – weigh less.

2.Mass – also be defined as a measure of inertia.

3.Plastics – be reinforced by different kinds of fibres.

4.You – to learn all the new words for the lesson.

IV.Прочитайте и переведите текст.
Herman Helmholtz1 (1821-1894)

1.Herman Helmholtz is celebrated2 for his contributions to physiology and theoretical physics. A delicate child, Helmholtz early displayed a passion for understanding things, but otherwise developed slowly, and had no marked early talent for mathematics. Although he wished to study physics, he was persuaded by his father to take up the study of medicine, entering the Medical Institute at Berlin in 1838.

2.His researches into physiological optics began about 1850 with the discovery of the ophthalmoscope3 (1851), followed by investigations into colour, including the problem of colour-blindness4. He also made fundamental contribution to the understanding of the structure and mechanism of the human eye. 

3. Helmholtz’s first, and most celebrated paper in theoretical physics was his article on the conservation of force. In this paper he proved the conservation of total energy of a system of particles which were interacting through5 central forces depending only on the masses and separations of the particles. Other important work in theoretical physics included the famous paper on vortex motion6 (1858), and the application of the principle of least action to electrodynamical problems.

4.Helmholtz was undoubtedly the most versatile7 of nineteenth-century scientists. From 1871 onwards he was perhaps more famous as a theoretical physicist than as a physiologist. But it seems probable that apart from his work on the conservation of energy he will ultimately8 be remembered more for his epochmaking researches in physiological optics and acoustics in which his talents as physiologist, physicist, mathematician and experimentalist of genius were most vividly displayed.

V.Прочитайте 4-й абзац текста и вопрос к нему. Из приведенных вариантов ответа укажите номер предложения, содержащего правильный ответ на поставленный вопрос:

For what researches will Helmholtz be remembered?

1. … for his celebrated paper in theoretical physics.

2. … for his epoch-making researches in physiological optics and acoustics. 

3. … for his paper on vortex motion.

Контрольная работа № 2.

Вариант № 3.
I.Перепишите следующие предложения; подчеркните в каждом из них глагол-сказуемое и определите его видо-временную форму и залог. Предложения переведите.

1.Today scientists are still looking for the substance as a source of energy. 

2.The intensity of this process is influenced by many factors.

3.I have not made my plans yet.

4.The boy has never been told the truth.

5.The child is being looked for everywhere.

II.Перепишите следующие предложения; подчеркните Part I и Part II и установите функции каждого из них. Переведите предложения.

1.The smallest particle having all the characteristics: of an element is called an atom.

2.Matter composed of any chemical combination of elements is called a compound.

3.Natural rubber is a thermoplastic material that becomes soft when heated and hard when cooled.

4.Squeezed by the ice the steamer could not continue her way.

III.Вставьте модальные глаголы и их эквиваленты. Предложения переведите.

1.The patient – to stay in bed for a few days, ordered the doctor.

2.- I help you to put on your coat?

3.Energy – exist in many forms and each form – be transformed into the other.

4.These metal parts – to be subjected to x- ray examination.

IV.Прочитайте и переведите текст.
Lise Meitner1 (1878-1968)

1.In 1938, an Austrian physicist named Lise Meitner announced the splitting of the atom in the laboratory. That annoucement confirmed once again the beginning of the Atomic Age. At that time Lise Meitner was one of the few persons in the world who had a through understanding of atomic energy and the uses which could made of this great power.

2.Lise Meitner, the daughter of a lawyer, was born in Vienna on the 17th of November 1878. She grew interested in science when she read of the Curies’ discovery of radium. The example of Marie Curie showed that a woman was able to achieve something in science. Lise Meitner became the first woman in the history of the University of Vienna who earned her doctorate2 in physics.

3.In 1906 she went to the University of Berlin to continue her studies by attending the theoretical lectures of Max Planck and by doing experimental work. Then focused her attention on the behaviour of beta radiation from radioactive elements, experimenting with the primitive methods then available3 for measuring and analysing radioactivity. Meitner’s work in the 1920s and early 1930s emphasized the physical aspects of radioactivity.

4.In 1938 she left Germany for Sweden. Lise Meitner declined to work on the development of the atom bomb remaining in Sweden throughout the war. She was concerned with the properties of new radioactive isotopes, produced by the cyclotron. Her career was illustrious4 and productive5 (she published more than 135 scientific papers), but throughout her life she remained a shy person, with a deep interest in music. Her devotion to science had been total. She never married. In 1960 she moved to Cambridge, England, where she died in 1968.

V.Прочитайте 4-й абзац текста и вопрос к нему. Из приведенных вариантов ответа укажите номер предложения, содержащего правильный ответ на поставленный вопрос:

Why can we say that Meitner’s career was illustrious and productive?

1. … because she was concerned with the study of thermal conductivity in non-homogeneous bodies.

2. … because she was measuring and analysing radioactivity. 

3. … because she published more than 135 scientific papers.
Контрольная работа № 2.

Вариант № 4.
I.Перепишите следующие предложения; подчеркните в каждом из них глагол-сказуемое и определите его видо-временную форму и залог. Предложения переведите.

1.The launching of Sputnik I was followed by many achievements in science and engineering.

2.Automation is being increasingly used in all the branches of our industry.

3.Several attempts have been made recently to produce artificial rain.

4.At last he returned to his native country where his childhood was spent.

5.This airplane crosses the Atlantic in about 10 hours.

II.Перепишите следующие предложения; подчеркните Part I и Part II и установите функции каждого из них. Переведите предложения.

1.The data mentioned in his report were published in the latest scientific journal.

2.Plastics articles are often difficult to repair if broken.

3.Soils containing too much sand and clay are of less value in agriculture.

4.A body moving with a certain velocity carries within itself the kinetic energy of motion.

III.Вставьте модальные глаголы и их эквиваленты. Предложения переведите.

1.The existence of an x – ray laser in the future – be possible.

2.A computer – solve complicated problems many millions of times faster than a mathematician.

3.Energy – exist in many forms.

4.You – go home after classes.

IV.Прочитайте и переведите текст.
Ch.V. Raman1 (1888-1970)

1.Raman was an Indian physicist, pre-eminent2 in molecular spectroscopy and acoustics. He created the Indian Academy of Sciences in 1934 and was its president until his death in 1970. He was justly considered the father of Indian science and the Indian Government honoured him with the first of its National Professorships. In 1957 he became an International Lenin Peace Prize Winner.

2.The son of a teacher and lecturer, Raman entered the College in Madras in 1903 and achieved the highest distinctions in the examinations for scientific degrees. As scientific research was at this time almost completely neglected in India, he then entered the Civil Service3 and was appointed to a position4 in the Finance Department in 1907. He retained this employment for ten years, mostly in Calcutta. When he was eighteen years old he published his first original optical research in the “Philosophical Magazine”. He continued scientific work in his spare time: some thirty papers testified to 5 his ability and energy and helped to make his name familiar to scientists in Europe and America.

3.In 1917 Raman was offered the professorship of physics at the Calcutta University. He occupied the chair6  from 1917 to 1933. Raman brought7 to Calcutta many talented young Indians to undertake research into optical phenomena, acoustics and other branches of physics.

4.During the years in Calcutta Raman emerged8 as a truly international figure. In 1930 he was awarded the Nobel Prize in Physics (for his work on the scattering of light and for the discovery of the effect named after him). Raman was honoured by universities and scientific institutions in the Soviet Union, Europe and America as well as in his own country.

V.Прочитайте 4-й абзац текста и вопрос к нему. Из приведенных вариантов ответа укажите номер предложения, содержащего правильный ответ на поставленный вопрос:

Why was Raman honoured by many universities and scientific institutions of different countries?

1. … because he was awarded the Nobel Prize.

2. … because he brought to Calcutta many young talented Indians. 

3. … because of his work on the scattering of light and for the discovery of an effect named after him.
Контрольная работа № 2.

Вариант № 5.
I.Перепишите следующие предложения; подчеркните в каждом из них глагол-сказуемое и определите его видо-временную форму и залог. Предложения переведите.

1.The construction of the road was being completed when the commission arrived.

2.The last experimental results were constantly referred to by the proffer.

3.It’s a long time since I have visited that town.

4.By that time we had already changed our plans.

5.This student doesn’t work properly.

II.Перепишите следующие предложения; подчеркните Part I и Part II и установите функции каждого из них. Переведите предложения.

1.The channel linking the two seas is being built now.

2.The new article recommended for the report was given in the book written by author.

3.When writing a telegram we must use as few words as possible.

4.He showed us a list of the published books.

III.Вставьте модальные глаголы и их эквиваленты. Предложения переведите.

1.His father – help him in his work.

2.These new materials – to with stand much  higher temperatures than metals.

3.Heat – be divided into three different types. 

4.We – think of heat as a special form of kinetic energy.

IV.Прочитайте и переведите текст.
Пояснения к тексту:

1.Powell – Пауэлл

2.Particle physics – физика элементарных частиц

3.The Pugwush Conferences – Пагуошские конференции

4.Were determined – были полны решимости

5.Won a scholarship – получил (по конкурсу) стипендию

6.Position – должность
7.Sub-nuclear particle – субъядерная частица
C. F. Powell1 (1903-1969)

1Powell was a prominent English scientist noted for his techniques and discoveries in particle physics2. He was also deeply concerned with problems relating to the social responsibility of scientists. Powell was a leader in the World Federation of Scientific Workers in the mid – 1950s and was a founder of the Pugwush Conferences3 on Science and World Affairs in 1957. As a public man and in his published articles Powell stressed the perils of destructive weapons and the need for international cooperation.

2.Powell was born in December 1903 in England. His parents were poor and they were determined4 to give their children a good education to increase their opportunities for a better life. In 1921 Powell won a scholarship5 of one colleges at Cambridge which he graduated in 1925 with first-class honours in science. He started his scientific career at the Cavendish laboratory headed by Ernest Rutherford. After gaining his scientific degree at Cambridge in 1928 Powell accepted a position6  at the new Physics laboratory in the University of Bristol. Powell spent the rest of his career there advancing to professor in 1948 and director of the laboratory in 1964.

3.In 1947 Powell’s Bristol group identified a new particle in the cosmic radiation. Powell and other two scientists discovered the (-meson and demonstrated that this sub-nuclear particle7 was produced directly in nuclear reactions and rapidly decayed in flight, producing the (-meson. The discovery solved a complicated scientific problem and helped open a new era of particle physics.

4.Powell continued to develop and apply the photographic method of Bristol. His laboratory became the source of new experimental discoveries in meson physics and an international training centre for physicists of many countries. In 1950 he was awarded the Nobel Prize for his development of the photographic method and his meson discoveries.

V.Прочитайте 4-й абзац текста и вопрос к нему. Из приведенных вариантов ответа укажите номер предложения, содержащего правильный ответ на поставленный вопрос:

For what discovery was Powell awarded the Nobel Prize?

1. …for the role he played in the establishment of the European Centre for Nuclear Research.

2. … for his development of the photographic method and his meson discoveries. 

3. … for a new technique for detecting high-energy particles.
Контрольная работа №3.

Вариант № 1.
Чтобы правильно выполнить контрольную работу №3, необходимо усвоить следующие разделы грамматики.

1.Грамматические функции и значения слов that, one,it.

2.Пассивный залог.

3.Функции глаголов to be, to have, to do.

4.Простые неличные формы глагола. Инфинитив.

5.Бессоюзное подчинение в определительных и дополнительных придаточных предложениях.

Образец выполнения упражнений 1:
Present Perfect Passive

The main question has already been discussed.

Главный вопрос уже обсудили.

Present Indefinite Passive

His scientific work is much spoken about.

О его научной работе много говорят.

Образец выполнения упражнений 2:
1.It is necessary to use the latest means of control in industry.

Необходимо использовать в промышленности новейшие средства контроля.

2.One should agree that experiment was of great importance for our research.

Следует согласиться, что тот эксперимент имел большое значение для нашего исследования.

3.It is hydrogen that will be the main source of energy in the car of the future.

Именно водород будет основным источником энергии в автомобиле будущего. 

Образец выполнения упражнений 3:
1.What is the name of the book you are reading.

Как называется книга, которую ты читаешь?

2.The region we must explore possesses great natural wealth.

Район, который мы должны исследовать, обладает огромными ресурсами.

Вариант № 1.

I.Перепишите следующие предложения; подчеркните в каждом из них глагол-сказуемое и определите его видо-временную форму и залог. Предложения переведите.

1.The lecturer is listened to with great interest.

2.Today plastics are being applied for car bodies.

3.The plan has been carried out.

4.Ted didn’t like when he was asked about his work.

II.Перепишите  предложения и переведите их на русский язык, обращая внимание на разные значения глаголов to be, to have, to do.
1.I’am afraid that he has fallen ill.

2.After the war the country was in ruins and the people had to work hard to restore national economy.

3.The chain was long enough to reach the opposite bank.

4.Have you taken all the influencing factors into consideration?

III.Перепишите предложения и переведите их на русский язык, обращая внимание на разные значения слов it, that, one.

1.One thing is clear to everybody: one must study hard if one wants to pass one’s examinations well.

2.That he agreed to help his comrades is only natural.

3.The question that was discussed at the meeting yesterday is of great importance. 

4.It is easy to get information stored in the computer.

IV.Переведите следующие предложения, обращая внимание на бессоюзное подчинение:

1.The method we objected to didn’t give good results.

2.The institute I study at is one of the biggest educational institutions in our city.

3.The text the student is reading is about space researches.

4.The heat a body contains is the kinetic energy of its molecules.

V.Выберите необходимую форму (инфинитив или герундий).

1.His father doesn’t approve of his (go) to Europe.

2.We found it very difficult (reach) a decision.

3.We are eager (return) to school in the fall.

4.There is no excuse for (leave) the room in this condition.

VI.Прочитайте и переведите текст.
Automated autos.

At the General Motors Technical Centre the Unicontrol Car is being developed which is one step along the way to the automated family sedan. In the car, a small knob next to the seat replaced steering wheel, gearshift lever, accelerator and brake pedal. Moving that knob sends electronic, impulses to a “baby computer” in the car’s trunk. From these signals the computer activates the proper servomechanism – steering motor, power brakes or accelerator.

Although this strange control method is easy to handle, the car does have to be driven. There are several research laboratories which work at the automated highways that would relieve the driver of all responsibilities except that of choosing a destination.

Automated highways-engineers call them quideways – are technically feasibly today. General Motors successfully demonstrated an electronically controlled quidance system. A wire was embedded in the road, and two pick-up coils were installed at the front of a car to sense its position in relation of that wire. The coils sent electrical signals to the steering system, to keep the vehicle automatically on course. They tested a system that also controlled spacing and detected obstacles. It could slow down or stop an overtaking vehicle until the road was clear. 

Вариант № 2.

I.Перепишите следующие предложения; подчеркните в каждом из них глагол-сказуемое и определите его видо-временную форму и залог. Предложения переведите.

1.The new equipment will be tested on Monday.

2. Numerous questions were being discussed by the commission yesterday from ten to twelve.

3. The documents were sent for a week ago.

4. I am often helped by my younger brother.

II.Перепишите  предложения и переведите их на русский язык, обращая внимание на разные значения глаголов to be, to have, to do.
1. The year on the Earth is twice as short as that on Mars.

2. A machine can do work which a man is unable to do.                               

3. They will have to try the method described in the article. 

4. Children under 16 are not allowed to see this film.

III.Перепишите предложения и переведите их на русский язык, обращая внимание на разные значения слов it, that, one.

1. She said that she would come back in ten minutes.

2. This TV set is very expensive, show me another one.

3. This article is much more difficult than the one we translated yesterday. 

4. It often rains in autumn.

IV.Переведите следующие предложения, обращая внимание на бессоюзное подчинение:

1. The power a machine does work with is measured in horse power or kilowatts.

2. That portion of mechanics we dealt with at our last lesson is known as statics.

3. We know radio and radar systems play a very important role at any airport.

4. The information science gets about other galaxies comes through radiotelescopes.

V.Выберите необходимую форму (инфинитив или герундий).

1. They agreed (leave) early.

2. She is looking forward to (return) to her parents.

3. She refused (accept) the gift.

4. George pretended (be) sick yesterday.

VI.Прочитайте и переведите текст.
POWER SOURCES

The forecast that the first electromobiles wold be one or two passenger vehicles  turned out to be wrong because of the inadequate battery power capacity. It is estimated by some that there are approximately 100.000-110.000 electromobiles   now being used around the would; most are vans, although light passenger elec-tromobiles have been recently   exhibited   in several countries.

One way to get around the problem of the battery power inadequacy is the hydrid vehicle - a small internal combustion engine couples with an accumulator power source. The internal combustion engine is used only outside residential areas to recharge the battery or as a simultaneous source of power. The range of this kind of vehicle is a lot greater. A Soviet model with a combined power plant used on the RAF van gets 80 km per hour and can cover up to 300 km without recharging.

Automated autos.

Other companies are also experimenting with guideways. In some system, the car's   power   comes   from   an   electric transmission line built into the road..  In others, vehicles can travel with greater safety at faster speeds, closer together. In fact, most experts believe that each lane of automated highway could move the traffic of three or four of  today’s  uncontrolled lanes.

Вариант № 3.

I.Перепишите следующие предложения; подчеркните в каждом из них глагол-сказуемое и определите его видо-временную форму и залог. Предложения переведите.

1.The work on the apparatus is being finished. 

2. The  machine-tool was attentively looked at. 

3. The  letter will be answered at once.

4. A new library will be opened in our city next week. 

II.Перепишите  предложения и переведите их на русский язык, обращая внимание на разные значения глаголов to be, to have, to do.
1. He will show you the engine that you have to lest.

2. He had to study the theory of interplanetary travel.

3. I was told that a temporary bridge would be built across the river.

4. The builders are to erect the structure in two month. 

III.Перепишите предложения и переведите их на русский язык, обращая внимание на разные значения слов it, that, one.

1. One never knows what may happen.

2. What other methods will they use? The ones they used were not effective.

3. This article is much more difficult than the one we translated yesterday. 

4. The day was fine, it was raining.

IV.Переведите следующие предложения, обращая внимание на бессоюзное подчинение:

1. The material the apparatus is made of is a good non-conductor of heat.

2. It is known one horse power equals 746 watts.

3. Every engineer knows the units of work are important and depend upon the units chosen for force applied and distance more.

4. Today we know atoms are either unchangeable nor indivisible.

V.Выберите необходимую форму (инфинитив или герундий).

1. He entered the room without (notice) her.

2. We watched the train (go) out.

3. Do you know the language well enough(read) English newspaper and magazines?

4. We use it for (make) chairs and tables.

VI. Прочитайте и переведите текст.
Sun driven engine.

 It is common know that certain metals and alloys are attracted by a magnet after heating this property vanishes, it is restored after cooling down. A new magnet heat engine works on this principle devices which transport thermal power for instance, the power of the sun rays into a mechanical power of rotation.

 We know solar power is inexhaustible and its use does not harm the environment. That’s why such importance is attached to the devices which make it possible to apply the idea of direct use of solar power, transforming it into mechanical forms of power. The development of an engine directory driven by a heat source, such as solar power, makes it possible to simply by and make power generation considerably cheaper, in comparison to the existing thermal engines we use today.

   The rotor of the new engine is made of an alloy that loses its magnetic properties already at 100˚ C. If the rotor is heated on one side, the cold side of the rotor will turn toward the magnet. Since, heating continues the rotor goes on rotating, too. Thus solar power can be used as a source of heat in this case.

   The magneto heat engine can drive pumps in waterless districts, it can also be widely used for watering greenery in cites and settlements.

   By using thermo magnetic alloys it is possible to develop a lot of automatic devices, for example, solar clocks. Mention should be made that these devices can with stand extreme temperature to organize the production of the necessary alloys is simple as there is no heat for such materials.

Haйдите правильный ответ на поставленный вопрос.

    Why are there no magnetic alloys used in the production of automatic devices.

1._____they resist to acids.

2._____they resist to heat.

3._____they resist to pressure.

Вариант № 4.
I.Перепишите следующие предложения; подчеркните в каждом из них глагол-сказуемое и определите его видо-временную форму и залог. Предложения переведите.

1. The plans of the next year are being discussed at the meeting.

2. This poet is much spoken about.

3. The new grammar rule will be asked at the next lesson.

4. The boy was told to be back at home at 6. 

II.Перепишите  предложения и переведите их на русский язык, обращая внимание на разные значения глаголов to be, to have, to do.
1. That he is a good driver is a well known fact. 

2. The engineers of the plant had to use computers. 

3. Much more complicated problems are to be solved.

4. They don’t know the material of the report.

III. Перепишите предложения и переведите их на русский язык, обращая внимание на разные значения слов it, that, one.

1. The successes in chemistry made it possible to obtain a lot of new materials. 

2. One must apply the material that can be machined easily. 

3. It is the energy of falling water that it is used to drive turbines.

4. The new computer works with greater precision than the old one did.

IV.Переведите следующие предложения, обращая внимание на бессоюзное подчинение:

1. We know electricity produces heat.

2. The new material the American scientists developed were used in space technology. 

3. Every substance a man comes in contact with consists of molecules.

4. I think the drawing will be ready by tomorrow. 

V.Выберите необходимую форму (инфинитив или герундий).

1. Is their any possibility of their (find) a suitable building material so soon?

2. I tried (make) him understand that his behaviour was no good.

3. Sputniks do not need any additional energy (move) around the Sun 

4. They were glad (take part) in our expedition.   

VI. Прочитайте и переведите текст.
                         The twenty first century transport.

   It has been a long time since train velocities first surpassed the 100 km per hour and even higher velocities in some countries. Is it possible to increase the speed with the help of the traditional wheel at the present stage in the development of transport facilities? Scientists and engineers in various countries have come to the conclusion that a new leap in velocity is possible only if the wheel an air or magnetic cushion.

  In Russia the Electrical Locomotive Engineering Research Institute is the leader in the development of high-speed ground transport. In collaboration with many other research centres it is carrying out an extensive programme on high-speed ground transport . The advantages of high-speed ground to be used in future are obvious at present air and road the combustion process naturally, affects the earth’s ecology.

     The future trains must be ecologically clean and noiceless. It has been estimated that the cost of high-speed ground transport will be recouped three times than with the railways.

     The high-speed ground transport will connect cities and industrial centres to airports. The first magnetic suspention train is not yet in operation, but its principle has found a way into technology.

-magnetic suspension train-поезд на магнитной подвеске.

-recoup-кoмпенсировать.

 Выберите правильный ответ на поставленный вопрос.

    What kind of transport will connect industrial cities to airports?

1.electrical trains.

2.high-speed-ground transport.

3.magnetic suspension trains.
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